Base Assembly
item A on Grill Package
Contents Page

Wheel
s ltem B on Grill Package
&)  Contents Page

Wheel Assembly

Install the wheels onto the
base assembly using 1 of
item M, K and O for each

wheel.

Tighten all fasteners using an
adjustable wrench and a
13mm box type wrench.

Cord Hole-—__|

Right Hand Side Panel

ltiem G on Grill Package
Contents Page

tem | an Grill Package
Contents Page

Base Assembly
Item A on Grill Package
Contents Page

Left and Right Side .Panel Assemply 4
e siog e onto 1 pace assons | € JIIITD| 8 OF |

bly using 4 of item | and 4 of item L.

Tighten all fasteners using a L-hex
Wrench and a 10mm box type wrench. 8 of L




A Base Assembly 1
B Wheels 2
[ C Grill Assembly 1
° D Door 1
] ) E Grease Cup Bracket 1
| 8 F Grease Cup 1
Grill I l G Right Side Panel 1
Assembly : “' : H Left Side Panel 1
tem C on Gril E | ! Bolt, M6 x 34 Long 8
Package
Contents Page J Bolt, M6 x 12 Long 1
_~ K Washer 3
. / L Nut, M6 9
Main
Assembly M Bolt, Hex Hd., M8 x 80 Long 2
item A on Grill Package N Bolt, M4 x 12 Long 2
Contents Page o) Nut, M8 5
m_. P Warming Rack 1
| Q Plastic Fastener Loop 8
Grill Assembly | Tw_o people are required for some assembly of the Power Chef Electric
Two people are required for this Grill.
portion of assembly. N i .
Lower the Grill Assembly onto Main “'; : Care should be taken when handling all paris during assembly to
* prevent damage.

Assembly and secure using 8 of item Q.

Push female recepticle through holes in .
. " ; Tools Required for Assembly
Grill Assembly and Main Assembly as | L-hex Wrench (included)

shown. Insert male point into female Small Phillips Screw Driver (#1)

]rfe ;gineci?);cr)i::f; g?f%iculty inserting Adjustable Wrench .

male point completely, you may use 10 mm Box Type Wrench (included)

pliers. NOTE: aithou;;h top portion | 13 mm Box Type Wrench (included)
' ) 8 Of Q Pliers may be required

of pliers can rest on plastic
fastener, bottom MUST rest on
metal chassis.




Door Assembly P

Insert the door into the pin on the grill
assembly then secure the bottom of o]
the door with 1 of item J, Kand L. &

Tighten all fasteners using L-hex
Wrench and a 10mm box type \‘V

wrench.

ﬁ:_ \\“‘\\

S

10fJ|(©)10fK




Step 5

| Grease Cup Bracket

ltem E on Grill Package

\ Contents Page

™ Grease Cup
item F on Grill Package
Contents Page

2XN

Grease Cup Assembly

Inside the Cabinet, fasten the
Grease Cup Bracket to the Girill
Assembly using 2 of item N. Install
the Grease Cup aligning the slots on
the bracket with the tabs on the
grease cup. Twist left or right to

secure.

Tighten all fasteners using a small
Phillips Screw Driver (#1). 8

8

If you have any questions regarding our products please have the product model and serial

numbers available upon calling customer service. To locate the model and serial number
labels see below. Record the model number, serial number, on the front cover of this manual

for future reference.

Model Number

I
‘7 war BV -k '
yms 3 H

[ il 1

CHTER - f2 e conroed prolec ri 3 ehring

sa, comect 1 froperly grondd m‘ﬁetﬂ:ﬁ iy, Larger wxirasin

" ﬁﬁmw BEEEET N

Serial Number

SERIAL Mo,

C XX

Model Number

Serial Number

/

T

Underneath the left tray towards the back






youfora”ownm;nu
 ;nodurik)heLonmapan(ﬁtho%e
: spvmqlnunnone

BT
President .~

bd Dlmplex,_ |

s th Amerlca le]ted

EBQ" Deluxe
Electric Grill



